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Section A

1. Find the inverse of the real function of

.

Watch Video Solution

f(x) = ax + b, a ≠ 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7xKUVfkAPmDC


2. Find the domain of the real function

Watch Video Solution

f(x) =
1

√1 − x2

3. if ,  and 2X+A=B then

find X

Watch Video Solution

A = [
1 2

3 4
] B = [

3 8

7 2
]

https://dl.doubtnut.com/l/_7xKUVfkAPmDC
https://dl.doubtnut.com/l/_CIIEmBOA8UEd
https://dl.doubtnut.com/l/_xgoXWE1C1TXz


4. Find the cofactors of 2 and -5 in the matrix

Watch Video Solution

⎡
⎢
⎣

−1 0 5

1 2 −2

−4 −5 3

⎤
⎥
⎦

5. Show that the points

are the vertices of a right angled triangle.

Watch Video Solution

A(2 ī − j̄ + k̄), B( ī − 3j̄ − 5k̄), C(3 ī − 4j̄ − 4k̄)

https://dl.doubtnut.com/l/_20WjmPxb1FTu
https://dl.doubtnut.com/l/_Yo71p6oyhl3X


6. Find the angle between the vectors

 and 

Watch Video Solution

→
i + 2

→
j + 3

→
k 3

→
i −

→
j + 2

→
k

7. If  then find the

projection vector of  on  and its magnitude.

Watch Video Solution

ā = ī + j̄ + k̄, b̄ = 2 ī + 3j̄ + k̄

b̄ ā

8. Eliminate  from .

Watch Video Solution

' θ' x = a cos3 θ, y = b sin3 θ

https://dl.doubtnut.com/l/_Ex9Q8YXlNdA6
https://dl.doubtnut.com/l/_bUvs0m6pA7EV
https://dl.doubtnut.com/l/_RtQeIBHZp1SR


Section B

9. Find a cosine function whose period is 7.

Watch Video Solution

10. Prove that 

Watch Video Solution

cosh2 x − sinh2 x = 1

1. Show that =(a-b)(b-c)(c-a)

Watch Video Solution

∣
∣
∣
∣
∣

1 a a2

1 b b2

1 c c2

∣
∣

∣

∣
∣

https://dl.doubtnut.com/l/_dOX3N3pCJUBe
https://dl.doubtnut.com/l/_EXolZoQa7fva
https://dl.doubtnut.com/l/_HI2cQdeg5H39


2. Find  in order that the four points

be coplanar.

Watch Video Solution

λ

A(3, 2, 1), B(4, λ, 5), C(4, 2, − 2) and D(6, 5, − 1)

3. Show that 

Watch Video Solution

=
tan θ + secθ − 1

tan θ − secθ + 1

1 + sin θ

cos θ

4. Solve .

W t h Vid S l ti

2 cos2 θ + 11 sin θ = 7

https://dl.doubtnut.com/l/_HI2cQdeg5H39
https://dl.doubtnut.com/l/_afsWogBnEeFg
https://dl.doubtnut.com/l/_XSzLEWZawNwu
https://dl.doubtnut.com/l/_QxbB1AGYd6qj


Section C

Watch Video Solution

5. Find the value of .

Watch Video Solution

tan( + )
sin− 1 3

5
cos − 1 5

√34

6. If 

Watch Video Solution

C = 60∘ ,  then show that + = 1
a

b + c

b

c + a

https://dl.doubtnut.com/l/_QxbB1AGYd6qj
https://dl.doubtnut.com/l/_EI6pBiQSaMnJ
https://dl.doubtnut.com/l/_QSOHt88ZmxwN


1. If  is a function and  are identify

functions on A,B respectively then prove that

 of

Watch Video Solution

f :A → B IA, IB

foIA = f = IB

2. By Mathematical Induction , show that

 is divisible by 64 for all positive

Integer n .

Watch Video Solution

49n + 16n − 1

https://dl.doubtnut.com/l/_wyazfmOAFlem
https://dl.doubtnut.com/l/_CWkmSJJwqMzD


3. If A is a non-singular matrix then prove that

.

Watch Video Solution

A− 1 =
adjA

|A|

4. Solve the system of equations by Matrix inverse

method, 

Watch Video Solution

2x − y + 3z = 8, − x + 2y + z = 4, 3x + y − 4z = 0

5. Fo any four vectors  and , prove that 


(i)  and (ii) 

ā, b̄, c̄ d̄

(ā × b̄) × (c̄ × d̄ ) = [̄ ¯̄̄acd̄ ]b̄ − [b̄c̄d̄ ]ā

https://dl.doubtnut.com/l/_E2iaEH5YxdUB
https://dl.doubtnut.com/l/_Tp5Gdi8CalMA
https://dl.doubtnut.com/l/_GwaWAsO11dXc


Watch Video Solution

(ā × b̄) × (c̄ × d̄ ) = [ā¯̄̄¯bd]c̄ − [āb̄c̄]d̄

6. IF A,B,C are angles in the triangle, then prove that 

Watch Video Solution

cosA + cosB − cosC = − 1 + 4 cos . cos . sin
A

2
B

2

C

2

7. If , then prove that 

.

Watch Video Solution

a = (b − c)secθ

tan θ =
2√bc

b − c

sinA

2

https://dl.doubtnut.com/l/_GwaWAsO11dXc
https://dl.doubtnut.com/l/_MvrEyYL5puis
https://dl.doubtnut.com/l/_BWKJNTlyP1bF

